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Calculate the Volume
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A contractor is ordering cement for a sauna tube.
He is installing lights and would like to attach the lamp 
pole to a solid base that goes 4ft underground below the 
frost level.  If the diameter of the sauna tube
is 18 inches, how much cement will he need?

Convert 4ft to inches
4  x  want

            have
4 x     12
           1
48 inches

V =  3.14r2 x H
    = (3.14)(9)2 x 48
    = (3.14)(81) x 48
    = 12208.32 in3



8


	Page 1: Mar 30-8:30 AM
	Page 2: Mar 30-8:48 AM
	Page 3: Mar 30-8:48 AM
	Page 4: Mar 30-8:49 AM
	Page 5: Mar 30-8:49 AM
	Page 6: Mar 30-8:49 AM
	Page 7: Mar 30-8:50 AM
	Page 8: May 8-9:27 AM

